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To add and subtract Fractions, | need a common
denominator: To determine one, | multiply all the
denominators together: 3-8 -2 = 48
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3. Calculate each sum and difference. M2-186
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2. Ruth and Samir determine the LCD for the expression
’b x21— i xl B
Ruth Samir
xll—l+x'+l x1|—|+xl+l
(= Dlx +1) (x — l)}x +) X '+'
LCD o X 30 =i (x — Dlx +1)

LCD: x= —1|

Who is correct? Explain your reasoning.
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3. Determine the least common denominator for each set of
rational expressions.
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Worked Example

You can determine the difference of two rational expressions with
binomials in the denominator.

1 1 3 1 B 1
x2 — 1 X2+2x+1 x+Dx—=1 (x+Dx+1)

100 + 1) 100 — 1)
X+FNDX=DX+T1) X+ DX+ Dx—1
x+1)—=(x-=1)
(x+ Dx+ NDx—=1)
- 2 + —11
X+ N+ Nx=1"'% '
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5. Anthony and Marissa add ==5— + % M2-189
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